 —— "

o LA0E=x-5 e )T N
| pi(eeeye) X*-8x-20
I X*-8%X-20 ¥0O
2 k0=5%x"-3 (* =10)(X+2)#1O
| p (~d0,) X-10%0 x+z¥o
R ) X¥lO X% -2
_?__-_._,_F_Lx)__f_aﬁ-? I D to,-2) U -2,10) UL19,%)|

-

R ¥0 2. L= -2x? i !
i D: (-4,0) V{0, 2) 3%% +[3X -0 1
1 I%*+3X -10 40 i
S 1 £ AV ERYA (3% -2 Jx+s)40
| -@ __. §-5 3-2%0 x+53%9
IX-s ¥0 ST HZ?)L x&rz-L i)
.S 3 -1 D:l-w-5)VU(=5,53) U (*3 ,20
R _T—ﬁ(ff&sm . -
9. EW) =\BYR+2Z

AT et 5Y+2 2O
y ’\z_q b_l > _z
$*-9 ¥o X =%

2% q D I"zlglldo)‘
i X %13
;* eV »)) 1o, £1X) 7 [3-EX
| T S - -

elp): 2 . 3-#%=0 ‘
| 5 X*-3%—10 -3x2-3 ¥dwe bya
. I¥-3y-lo¥o X <3/ wﬂ = £lip Yoy
@ (4s)xe2)40 | D (-2 meguality |
‘ v-s¥o w20 — o
x¥5 X¥- 1

|

o (=P, 2)VE25)U(S,®




L ey)=ys
o f e *-3x - S
X-3x ¥0 B )
 R(¥-3) k0
- [X%D X-3%0
R X¥3 .

S D it 1,
 |zs20 Y- uto

B 2y > -S XX b

_. X="%, X ¥ty

— — >

B i | ‘S{zo Q




